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Reading Comprehension

Band 1
XEEmAM

Directions: There are four passages in each test. Each pas-
sage is followed by some questions or unfinished state-
ments.. For each of them there are four choices marked A,
B,C and D. You should decide on the best choice and
mark the corresponding letter on the Answer Sheet with a
single line through the center ..






TEST 1

8}

A lawyer friend of mine has devoted herself to the service of humanity. Her
special area is called”public interest law.”

Many other lawyers represent only clients who can pay high fees. All
lawyers have had expensive and highly specialized training, and they work long,
difficult hours for the money they eam. But what happens to people who need le-
gal help and cannot afford to pay these lawyers’ fees? '

Public interest lawyers fill this need. Patricia, like other public interest
lawyers, eams a salary much below what some lawyers can eam. Because she is
willing to take less money, her clients have the help they need, even if they can
pay nothing at all.

Some clients need legal help because stores have cheated them with faulty
merchandise. Others are in unsafe apartments, or are threatened with eviction
and have no place to go. Their cases are all called“civil” cases. Still others are
accused of criminal acts, and seek those public interest lawyers who handle
“criminal” cases. These are just a few of the many situations in which the men
and women who are public interest lawyers serve to extend justice throughout our

society.
1. A person who needs and uses legal help is called a

A. lawyer. B.client. C.tenant. D. case worker.
2. Public interest lawyers serve

A.only stores and landlords. B. criminals only.

C. people who can pay high fees. D. people who can pay little or nothing.
3.1f only rich could be helped by lawyers, the justice system would be

A. undemocratic. B. fair and reasonable.

C.modem. D.in need of no changes.
4. Public interest law includes )

A.civil cases only. B. criminal cases only.

C. criminal and civil cases. D.wealthy clients’ cases.

5. Which of the following is not a matter for a civil case?
A.A tenant is faced with eviction.
B. A landlord refuses to fix a dangerous staircase.
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C.A burglar is arrested.
D. A store sells a faulty radio.
(2)

When children learn a language, they learn the grammar as well as the
words or vocabulary. No one teaches them; children just “pick them up.”

Before babies begin to produce words, they produce sounds. Some of these
sounds will remain if they occur in the language being acquired (% #[), and
others will disappear. This is called the “babbling stage.”

A child does not learn the language “all at once.” The child’s first utteranc-
es (F1%) are one-word “sentences” . After a few months, the two-word stage
arises. During this stage, the child puts two words together. These two-word
sentences have definite pattems and express grammatical and meaningful relation-
ships. Still later, in the telegraphic stage, the child will produce fonger sentenc-
es. These longer sentences are mainly made up of content words. The child’s
early grammar lacks many of the rules of the adult grammar, but eventually it will
become mature.

All normal children everywhere leam language. This ability is not dependent
on race, social class, geography, or even intelligence. This ability is uniquely
(4% 38 ) human .

6. This passage is mainly about .
. A.differences between a child’s language and an adult’s
B.ways of teaching babies to talk
C. children’s acquisition (J #§) of the mother languages
D. the importance of fearning foreign languages
7.The phrase “pick them up” in the first paragraph means
A. “raise them from the ground”
B. “leamn them without much effort”
C."use hands to help carry them”
D. “study very hard and remember them”
8.The two-word sentences produced by babies
A.are simpler than those produced in the “babbling stage”
B. are much more difficult than those produced in the telegraphic stage
C. are strictly grammatica!
D. are meaningful and have function
9. During the telegraphic stage, children can produce .
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A.meaningless sentences

B. meaningful sentences made up of two words only

C.longer and meaningful sentences made up of content words

D. very long sentences using all the rules of the adult grammar
10. Any child can leam language as long as he is

A. well-educated B. clever enough
C. unique D. physically normal
(3)

“Leaming a language is easy. Even a child can do it!”

Most adults who are leaming a second language would disagree with this
statement. For them, learning a language is a very difficult task. They need hun-
dreds of hours of study and practice, and even this will not guarantee success for
every adult language leamer.

Language leaming is different from other kinds of leaming. Some people
who are very intelligent and successful in their fields find it difficult to succeed in
language learning. Conversely, some people who are successful language leam-
ers find it difficult to succeed in other fields.

Language teachers often offer advice to language leamers: “Read as much as
you can in the new language. ™ “Practice speaking the language every day. "“Live
with peaple who speak the language.”*Don’ t translate—try to think in the new
language. ”“Leam as a child would leam; play with the language.”

But what does a successful language learner do ? Language leaming research
shows that successful language leamers are similar in many ways.

First of all, successful language learners are independent leamers. They do
not depend on the book or the teacher; they discover their own way to leam the
language. They are good guessers who look for clues and form their own conclu-
sions. '

Successful language leaming is active learning. Therefore, successful leam-
ers do not wait for a chance to use the language; they look for such a chance. It
is more important for them to leam to think in the language than to know the
meaning of every word.

Finally, successful language learners are learners with a purpose. They want
to leam the language because they are interested in the language and the people
who speak it. They find it easy to practice using the language regularly because
they want to leam with it.
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What kind of language leamer are you? If your language ieaming has been
less than successful you might do well to try some of the techniques outlined
abaove.

11. A successful language leamer must
A. be very intelligent
B. depend on a good book or teacher
C.try always to speak correctly
D.try to learn the new language independently, actively, and purposely
12. Which of the following would most probably not be a piece of advice offered
by a language teacher?
A.Never guess the meaning of a word.
B.Don’t translate—try to think in the new language.
C. Find every chance to speak the language.
D. Read as much as possible in the new language.
13. The expression“play with the language”in para. 4 means to
A.leam the language to play with a child
B.learn the language from a child
C. leam the language in a more natural way
D. use the language as a toy
14, According to para. 7, thinking in the language is more important than know-
ing the meaning of every word of the language. Why?
A. Knowing the meaning of every word is useless.
B. Thinking in the language is easier than knowing the meaning of every
word.
C.Knowing the meaning of every word requires more time.
D.When thinking in the language, you are using the language in an active
way.
15.The word “techniques” in the last line of the text can not be replaced by

A.methods B. skills C.t00ls D. reasons
4)

There was a brilliant starry sky over the north Atlantic on the night of Sunday
April 14, 1912, as the world’ s largest passenger liner Titanic steamed towards
New York at high speed. | Bruce Ismay, the President of the White Star Line
which owned the Titanic, was a First Class passenger on this voyage. He wanted
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to ensure the ship grabbed headlines by arriving in New York one day ahead of
shedule, adding glory to an already highly publicized maiden voyage. Titanic
was going at 22-and -a -half knots, far too fast for safety, as it raced through the
dark waters of the Atlantic towards an ice field.

Through that fateful evening, warnings were radioed to the Titanic from sev-
eral ships reporting that giant icebergs were floating into the north Atlantic shipp-
ing lanes. The latest wamning arrived from the ship Masaba at 9:30pm, but radio
operator John Phillips was so busy sending social Marconigrams to New York on
behalf of the First Class passengers that he never delivered that message to the
bridge. It was still waiting for attention in the radio room when the Titanic hit an
iceberg at 11:40pm that night.

The liner had provision for a full passenger list of 3300~——735 First Class
passengers, 674 Second Class and 1026 steerage or Third Class passengers. How-
ever, on its maiden voyage, the Titanic had just over 2200 people on board.

The original design for Titanic called for 64 lifeboats, enough for all the pas-
sengers. This was vetoed(% #) by Ismay on the grounds that such a display of
emergency precautions would cause unnecessary panic in passengers when there
were already enough fears about the new giant ships. He also thought the lifeboats
would cut down the view, take up deck space and, because of the “unsinkable”
nature of the Titanic, simply be a nuisance to be used for rescuing passengers
from other ships. So it had noly 14 lifeboats on board.

At 2:20 am on April 15, less than three hours after the collision, the unsink-
able Titanic tipped benteath the waves after enjoying only two days of sailing glo-
ry on its maiolen voyage.

Unfortunately, onfy 705 people were rescued from the life boats and the wa-
ter after“unsinkable” Titanic went down.

16. Which of the following did not contribute to the deaths?
A. Darkness
B.High speed
C.Not receiving radio waming from other ships
D.Not providing enough life boat

17.When did Titanic set sail?
A.On Tuesday B. On Wednesday
C.On Thursday D.On Friday

18. Which of the foliowing is not true?
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19.

A. Titanic didn’t sink immediately after it rammed the iceberg.

B. The owner of Titanic made some wrong decisions.

C.The tragedy was unavoidable.

D. There were wamings of danger before 9:30pm.

What lessons can be drawn form the calamity?

A. People should be brave in face of great danger.

B. Radio should not be used as a novel means of communication, but as a
monitor for important shipping message.

C. Every boat should carry enough lifeboats

D.Both B and C.

. The best title for the passage is .

A. Ghostly Iceberg

B.Narrow Escape

C. A Man-made Calamity

D. The*Unsinkable” Titanic Went Down
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- (D
Researchers are finding that in many ways an individual bacterium is more

similar to a component cell of a multicellular( $ 45 4€) organism than it is to a
free-living, independent organism. Anabaena, a freshwater bacterium, is a case in
~ point. Among photosynthetic bacteria, Anbasena is unusual; it is capable of both
photosynthesis (£ 44 M) and nitrogen fixation ( B] # 4 A ). Within a single
cell, these two biochemical processes are incompatible; oxygen, produced during
photosynthesis, inactivates the nitrogenase required for nitrogen fixation. In
Anabaena communities, however, these processes can coexist. When fixed nitro-
gen compounds are abundant, Anabaena is strictly photosynthetic and its cells are
all alike. When nitrogen levels are low, however, specialized cells called hetero-
cysts(FFH i) are produced which lack chiorophyli (necessary for photosyn-
thesis) but which can fix nitrogen by converting nitrogen gas into a usable form.
Submicroscopic channels develop which connect the heterocysts cells with the
photosynthetic-ones and which are used for transferring cellular products between
the two kinds of Anabaena cells.
1. According to the passage, which of the following statements is true of bacteria

that engage in photosynthesis?

A.They eventually become two independent cells.

~ B.They cannot nomally also engage in nitrogen fixatlon

C.Oxygen nommally inactivates them.

D.Cellular products are constantly transferred between such bacteria.
2.What does the “chlorophyll” mean in the passage?

AR B.*Hik C. ik D%
3. Itcanbemferredﬁunmepasagemagcelldtffaumaumw%mMabamals
reguiated by the _ - -,

A.amount of oxygen Anabaena cells produce
B. season of the year
C. amount of fixed mtrogen compounds avallable
D. number of chlorophyll in Anabaena cells
4.The passage supports which of the following mferenc&saboutheterocysts?

A. Heterocysts do not produce oxygen.



